Unit 3 Packet Honors Math 2

Homework Day 14: Cumulative Review (After Test)

1. Given triangle ABC, with coordinate points A(1, 3) B(1, 6) C(-3, 1) find the coordinate points of the
image and write the correct algebraic rule for each:

(v,y) 7 (2x, 2y) a. Dilation by2 A( 2, b’), 9‘(7-, '2)1 ¢ ‘("' “’17')
(Yf‘j)-" (—y,x) b. Rotation90 A" ('3 ' l), g'(-%, ‘)) ¢'(- h -3
(x,’) > (—X,-y) c. Rotation 180 ﬁ'(—l,’gl B'(- , b)) € L e ) ;
_'x,’)—)(')r, ‘j) d. Reflection over the y-axis A' (" !, 2), G‘("' ’ 6)) ¢ (3 ")
(%) (-—7,—)() e. Reflectionsovery=-x f'(-3,-1), @' (- lo,—‘) A i P 3)
2. Given AABC ~ AFED find all angle measures and side measures. A~ D's have Cw‘j"’,eﬂ"‘

_ X correspon din and\es_
20 " 30 and propat Honal S des
180 = 20X

x= 9 @=q ; Y4=7S% 2 ='-7-0‘j

A 36 C D X F
3. Given APJG ~ APRQ find the values of x and y.
PJ =6
JG =5
PG =4
GO = x
RO =x+6
JR =y
[ =y .=
10 bty
. i ? -
4. If GJ=27, what is the value of x? 3X+X‘\'\b:2-+ @0 = S(')(t;l-j)
3x X +16 gy = \\ ko= 3 Y

o o o Oz §
G H J "x:“/q, 3@

6. Describe a single transformation that has the same imag:a as the composition of <6, 2> followed by
<-2, -4>. < Lf ,-2_7 Terans \ahon wp r‘th— Y and
down 2.

7. Can the following triangles be proven congruent? If so, write the congruency statement and which
postulate proves them congruent.

ASA a. . v b. " C. i » d. - K
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ATSE = BVTR
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8. Factor:y=3¢+8x+5 3°S=IS (3)(2 +3X)({' Sx +§)

AIS=h Ix (xr+ ) +S(xH)
9. Solve:x’+5x=-24 X= -Siﬁg‘q(ﬂa“') Gx +SXX+|)

xZ+Sx+24=0 2 z’x__g-!-r.
10. Find the exact value of: 3x* +7x — 23 = z
-F[Gqa-u 2y _ -FEJ328

a3 2(3) - b -
11. Explain how you know if a quadratic will have 0, 1, or 2 solutions. X
Use Hhe cuscriitmimant b2-4al + TF negave | e 2 \nagnady oot

«TE 1t 1S poswmve Thea 2 cea) solukonS . T€ 0, Men | réal soluken

12. Explain how you know if a quadratic has real or imaginary solut;ons

bZ-YacC , use +ne daschminant ‘ ‘
e T°§ -'A— Anen Cla) SO\UNINS T 4 - Xihen .na_g.nal“j golubong

13. Explain the dlfference between rational and irrational. G
Rabral Numen Can b it O acaka e 8/ or 3y

. ~s
Ireabord) cun e wri¥ea as adeélimal VY ndFr a4 Leackon hie Y or
14. What is the max height and the amount of time till the acorn hits the ground of the following: J'Z

y=-16x+19x+48  § 3 Y

%'0 (?" 0)
15. Given the x-intercepts {8-3)and {8;-7) and the vertex (5 -3), write the equation of the parabola.

\J: \‘(X"?))(X'?) -3 = -3 ¥ X'?‘)

%:\‘(9’3){;’-?‘) 3/q: Y- /"((X‘Ig)éx-l-l\

-3z ¥ ()(-D X = oy
16. Simplify the following expressions: = yq x il /2 -

. ABaisey Yasx? = \5x Yy
o o 2 [axy?R Ay | oz
(Vx-s)F4)" Ja-s  -2%-%

: . Jx-5-12=-8
17. Solve the following for the value of x: 412 412 - i 5 Ib

x=3u+‘0

18. Find the inverse of y =3x+ 6

er 3

19. The value, V, of a tractor can be modeled by the function V(t) = 20 000(0. 84}t where t is the number of
years since the tractor was purchased. To the nearest hundredth of a percent, what is the monthly

iati -1
(rf)tf:;ggle%tlon? 20000 = lb\&oo bO
('7-’ \UQOO) 'Z\Um.ah- "’}QD /l?.. | l"ngb 2t .Oqu
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